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But what is by throwing; he is - 577972 510991 295555 9342 K% 7T 2aN
exempt; let him differentiate and teach in this itself

Overview

The X m3 is establishing the X172 of ©°3 21137 that he is 2’17 because this is according
to °X1¥ 12 that "n7 72w 721, however by R¥1™ 7731 he is Mwd. The k43 asks why do
we distinguish between 717237 (where he is 217) and 773» (where he is Mw9), which
is a different case; let us distinguish between 1171237 (where he is 271 because of 7271
71vD) and 1p>71 (where he is Mw»d), which is a more similar type of case. 19010 will
explain why P77 is more similar to XX than 7737 is to X, !

maoIn explains:
= 9991 29V D772 PN 2YUN 2N DIVN

It is on account of the following that the X3 considers 91 more similar to X°X1

than 9937 is similar to X%
= 2ZANNYN 2990 NIV ONP PPN NNANNA NI DIV PN NININIT OIVN

Since by 8% (picking it up and carrying it outside) and by throwing it into the
7"77, in both these cases, the 1717 (for 72°13) comes with the lifting of the 0,

before the N2 297 comes -
$INND 31PN 13PN ARYINND 99992 YaN

However by dragging it into the 9"77, the nN%Y? and the I come
simultaneously.

Summary
By both 11 and XX, the 717237 preceded the XX, but not by 7.

Thinking it over
Moon finds it necessary to explain why P77 is more 77772 of X*¥ than 773n. Is there

any reason why one might assume that 973» is more 77°72 of X°X¥ than pa1r?

! When distinguishing between two cases it is best to cite cases which are as similar as possible, thereby showing that
even though these two cases are so similar, nevertheless they have different rulings; however if the two cases are less
similar, then there is not that much of a novelty that their rules are different. (We can distinguish between two different
cars that one has a greater speed, but we will not contrast the speed of a car with that of a bicycle.)

2 Therefore there is a greater w170 by 777 that even though the 71°P¥/7m337 came before the x%17 271 (just like by
R¥1), nevertheless he is Mwd for the 72713, since AR TN 77237 (as opposed to XX according to *Riv 12).

3 Therefore the difference (between 773 and X°¥W) is great, and subsequently the w1 7n that he is Mo is minimal.
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